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Question 1 (4 marks)

a.

b.

Question 2 (3 marks)

A1

M1

A1

Question 3 (4 marks)

a.
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b.

 x = 1 as x > 0 A1

Question 4 (4 marks)

a.

b. range g(x)  domain f(x)

range g(x) = (– , 1]

domain f(x) = (0, )

A1

 x  (–2, 2) A1

Question 5 (7 marks)

a. range f  = [0, 6] A1

A1
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b.

correct shape (must not be linear between turning points) A1
correct intercepts labelled as coordinates A1

correct turning points labelled as coordinates A1

c.

A1

Question 6 (9 marks)

a.

b.
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c. Pr(J) = p

Pr(J ) = 1 – p

Pr(exactly 1 J) = Pr(JJ ) + Pr(JJ )

M1

                                   or M1

A1

d. X ~ N(20, 36)

Z ~ N(0, 1)

A1

e.

f. Pr(X < 10) = Pr (X > 30) = k

Pr(X < 26) = Pr(Z < 1) = 0.84

Pr(10 < X < 26) = 0.84 – k A1
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Question 7 (9 marks)

a.

The tangent passes through  with gradient . A1

A1

b. point A (y-intercept of tangent line): A1

point B: A1

Let y = 0 (for point C).

point C: A1

c.

 The area is constant and independent of k.

d.

M1

A1
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